Answers to the homework that was due today

1 From the textbook, copy the diagrams from page 483 in .goodvdeta.i], including the caption:

‘caption

2 Now add a tiny “+” to the hydrogen atom on each water molecule and a tiny “-” to each oxygen atom on a water
molecule in your drawings above. (that will be a few dozen of each symbol altogether)
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For each of the following, Underline compounds that are molecular, circle compoundse*ﬂlat are ionic
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For each substance below write a dissociation equation (something like "A¢) -> Bg) + Cug"") to describe that
substance dissolving:

(@) LiCl This is é;'onic Omolecular | (don’t forget to write solid, liquid, aqueous next to each symbol)
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(b) CH3OHg) This is Dionic xmolecular (don’t forget to write solid, liquid, aqueous next to each symbol)
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fonic Omolecular (don’t forget to write solid, liquid, aqueous next to each symbol)

(©  LiNO Thisis

(d) NaBrg This is ﬁ onic_Omolecular (don’t forget to write solid, liquid, aqueous next to each symbol)
> by Br
p > Noay + g
() C12H2011 This is Qionic @olecular (don’t forget to write solid, liquid, aqueous next to each symbol)
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4. Write the correct formula that each compound would have. Remember, the total charge of any
substance is zero charge
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5. For each description below, fill in one row on the table below
A single Cation A single Anion Formula
show charge) (show charge)
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6. Draw a cartoon, similar to the drawine in #1 to show the dissolvino of MoCl.
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Here are a couple of hints to help you get started on
tonight’s Trikke Sheet Homework (download separately at
hhttp://genest.weebly.com:

1. Cirtcle the metallic element in each.

- Circle any element

Circle any element that | : , : - Tt
o This substance is... that-is a metal This substance is...

s a mefal.

@04 ’ ion;’lc / molecular NaCH,COO i(oyic / molecular
N,O, ionic / mﬁeq;lar V[cbo i,&%c / molecular
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. Draw three
aluminum
bromides ‘ ,
in each T\ :>
beaker: :

AlBr, Pat’

AlBr;
AlBr;

3. Draw a slash through the molecule to show the half that would fall off. How many pieces will
this fall apart into if made into an aqueous solution? (circle your choice)
K1 | 12(2?) 3 4 5 AlBr, | 12 20 3?5?
K,S | 1? 22(3?)4? 5? (NH,),CO3 | 1? 22 3? 4 5?
MgCO, | 12127) 32 4? 5? Ca(CH,COO), | 1? 2? 3?2 42 5?
Zn(NO,), | 1? 2- 4? 5 CH,OH | 1? 2? 3? 4? 5?




